
A

25 2 3

5 4

14 716 13 15 9

6

18

8

30

32202923

1 3132

33

21
27

B

B

A

19

10

30

24

31

29

17 22
26

B-B (1 : 1)

84.07 1:2

Листов 1Лист 

МасштабМассаЛит.

Утв.
Н. контр.

Пров.
Т. контр.

Разраб.
ДатаПодп.№ докум.ЛистИзм.

С
пр

ав
. №

 
П

ер
в.

 п
ри

ме
н.

П
од

п.
 и

 д
ат

а
И

нв
. №

 д
уб

л.
Вз

ам
. и

нв
. №

П
од

п.
 и

 д
ат

а
И

нв
. №

 п
од

л.

23642/2
Формат А1Копировал

00-000.06.12.12СБ

00-000.06.12.12СБ
Муфта

предохранительная
Сборочный чертеж

 Богданов Д.В.
Киюц А.В. 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 



1 00-000.06.12.12.01 Шток 1
2 00-000.06.12.12.02 Втулка 1
3 00-000.06.12.12.03 Цилиндр 1
4 00-000.06.12.12.04 Серьга правая 1
5 00-000.06.12.12.05 Цапфа 1
6 00-000.06.12.12.06 Винт 1
7 00-000.06.12.12.07 Фланец 1
8 00-000.06.12.12.08 Серьга левая 1
9 00-000.06.12.12.09 Кольцо буферное 1
10 00-000.06.12.12.10 Пружина 1
11 00-000.06.12.12.11 Кожух 1
12 00-000.06.12.12.12 Прокладка 1
13 00-000.06.12.12.13 Диск 1
14 00-000.06.12.12.14 Гайка 1
15 00-000.06.12.12.15 Стакан 1
16 00-000.06.12.12.16 Пружина тарельчатая 1
17 00-000.06.12.12.17 Цапфа 1
18 00-000.06.12.12.18 Крышка левая 1

Документация

А1 00-000.06.12.12.00СБ Сборочный чертеж

Детали

Листов 3Лист 1Лит.

Утв.
Н. контр.

Пров.
Разраб.

ДатаПодп.№ докум.ЛистИзм.

С
пр

ав
. №

 
П

ер
в.

 п
ри

ме
н.

П
од

п.
 и

 д
ат

а
И

нв
. №

 д
уб

л.
Вз

ам
. и

нв
. №

П
од

п.
 и

 д
ат

а
И

нв
. №

 п
од

л.

Формат А4Копировал

 
 
 

 
 

 
 

 
 
 

 
 

 
 

 
 

 
 

Приме-
чаниеКо

л.НаименованиеОбозначениеП
оз

.
Зо

на
Фо

рм
ат

00-000.06.12.12

Муфта 
предохранительная



19 00-000.06.12.12.19 Упор 1
 
 Стандартные изделия
 

20 Болт M16x1,5-8gx50.58 4

  ГОСТ 7798-70
21 Винт A.M10-8gx20.58 1

 ГОСТ 1482-84
22 Винт BM5x-8gx12.58 4

 ГОСТ 17473-80
23 Гайка M24-7H.5 1
 ГОСТ 2524-70

24 Гайка M16 -7H.5 1
 ГОСТ 5935-73

25 Кольцо 69-50-9 1
 ГОСТ 6308-71/МН 180-61

26 Шайба 5.65Г 4
 ГОСТ 6402-70

27 Шайба 10.65Г 1
 ГОСТ 6402-70

28 Шайба 16.65Г 4
 ГОСТ 6402-70

29 Шайба 16.02.Ст3 1
 ГОСТ 6958-78

30 Шарик V 19 23
 ГОСТ 3722-81

31 Шплинт 4х40.001 1
 ГОСТ 397-79

31 Шплинт 5х60.001 1
 ГОСТ 397-79

№ докум. Подп. Дата 2И
нв

. №
 п

од
л.

П
од

п.
 и

 д
ат

а
Вз

ам
. и

нв
. №

И
нв

. №
 д

уб
л.

П
од

п.
 и

 д
ат

а

Копировал

Лист

Формат А4
Изм. Лист

 
 

 
 

 
 

 
Обозначение Наименование Ко

л. Приме-
чаниеП

оз
.

Зо
на

Фо
рм

ат

00-000.06.12.12



33 Шплинт 6,3х45.001   1
ГОСТ 397-79

№ докум. Подп. Дата 3И
нв

. №
 п

од
л.

П
од

п.
 и

 д
ат

а
Вз

ам
. и

нв
. №

И
нв

. №
 д

уб
л.

П
од

п.
 и

 д
ат

а

Копировал

Лист

Формат А4
Изм. Лист

 
 

 
 

 
 

 
Обозначение Наименование Ко

л. Приме-
чаниеП

оз
.

Зо
на

Фо
рм

ат

00-000.06.12.12


	Лист1
	Чертежный вид3
	Чертежный вид7
	Разрез B-B

	Лист2
	Лист3
	Лист4

